Sec2.1.3
Transformations and Vertical Line
Test (VLT)

You should be able to:
- graph a linear, basic quadratic,
absolute value or cubic equation
-determine any vertical shifts
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Vertical Line Test (VLT)

If the criteria for a function is that no x
value can pair with two or more y values,
then the graph will not have two points "on
top of" each other.

(i.e. a vertical line drawn anywhere on
thegraph can only intersect the graph once
for the graph to be a function)
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39-00 odds....photo on next page and website
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90-ad is a function

09-60 is not a function
blis a function

bZ is not a function

b3-b64 is a function



The pictures don't come through well on myemail, so [l
definitely post on my website via myipad. Theyre much clearer.
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